

Invoice Date: 11/10/22
Invoice Number: 3610525

Account ID: BG-170748 Due Date: 11/28/22

and Guiscomer Gares

nalls GasCustomerCare@constellation.com

(844) 200-3427

Website www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$23,845.75

Other Gas Related Charges \$4,676.60

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$28,522.35

**Total Amount Due** 

\$28,522,35

# Message Center

Thank you for being a Constellation customer!

# SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576 Service for Oct-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

**Total Current Site Charges** 

Quantity	Rate	Amount
1,500.00 Dth	\$2.50000	\$3,750.00
538.00 Dth	\$3.10000	\$1,667.80
2.790.00 Dth	\$6.60500	\$18,427.95
4,828,00 Dth		\$23,845.75

\$4,676,60 \$4,676,60

\$28,522,35



Invoice Date: 12/12/22 Invoice Number: 3631423 Account ID: BG-170748 Due Date: 12/29/22

or Customer Cale:

GasCustomerCare@constellation.com

hore (144) 200-3427

www.constellation.com

**Total Amount Due** 

\$36,490.58

Message Center

Thank you for being a Constellation customer!

# SUMMARY CHARGES

■ Gas Supply Charges \$32,164.47

Other Gas Related Charges \$4,326.11

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$36,490.58

# SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576

Service for Nov-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

**Total Current Site Charges** 

A	Rate	Amount
Quantity	111111111111111111111111111111111111111	
375.00 Dth	\$3.10000	\$1,162.50
975.00 Dth	\$3.55000	\$3,461.25
5,220.00 Dth	\$5.27600	\$27,540.72
6,570.00 Dth		\$32,164.47
		\$4.326.13

\$4,326.11

\$36,490.58



Invoice Date: 01/12/23 Invoice Number: 3653204 Account ID: BG-170748 Due Date: 01/30/23

For Customer Care:

GasCustomerCare@constellation.com

(844) 200-3427

www.constellation.com

SUMMARY CHARGES

\$24,288.75 ■ Gas Supply Charges

\$5,698.17 Other Gas Related Charges

\$0.00 **■ Taxes** 

\$0.00 M Account Adjustments

\$29,986.92 **Total New Charges** 

**Total Amount Due** 

\$29,986.92

Message Center

Thank you for being a Constellation customer!

### SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St. Irvington, KY 40146-7241

LDC Account: SGT940

Customer ID: RG-158576

Service for Dec-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Incremental Gas Costs

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Quantity 375.00 Dth

975.00 Dth

3,450,00 Dth

4,800.00 Dth

\$3.55000 \$5.70000

Rate

\$3.10000

\$3,461.25 \$19,665.00

\$24,288.75

Amount

\$1,162.50

\$5,698.17 \$5,698.17

Total Current Site Charges

\$29,986.92



Invoice Date: 02/10/22
Invoice Number: 3402299

Account ID: BG-170748

Due Date: 02/28/22



or Christomer Cares

mail GasCustomerCare@constellation.com

iona (844) 200-3427

website. www.constellation.com

SUMMARY CHARGES	
Gas Supply Charges	\$11,213.46
Other Gas Related Charges	\$7,721.77
■ Taxes	\$0.00
Account Adjustments	\$0.00
Total New Charges	\$18,935.23

# **Total Amount Due**

\$18,935.23

#### Message Center

Thank you for being a Constellation customer!

#### SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576

Service for Jan-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Incremental Gas Costs Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

**Total Current Site Charges** 

Quantity	Rate	Amount
1,500.00 Dth	\$2,50000	\$3,750.00
594.00 Dth	\$3,10000	\$1,841.40
1,414.00 Oth	\$3.97600	\$5,622.06
3.508.00 Dth		\$11,213,46

\$7,721,77 \$7,721,77

\$18,935.23



Invoice Date: 03/10/22 Invoice Number: 3426613 Account ID: BG-170748 Due Date: 03/28/22

An Exelon Company

For Customer Care:

(844) 200-3427

www.constellation.com

SUMMARY CHARGES

\$7,489.90 ■ Gas Supply Charges

\$5,366.70 Other Gas Related Charges

\$0.00 Taxes

Account Adjustments

\$12,856.60 **Total New Charges** 

**Total Amount Due** 

\$12,856.60

Message Center

\$0.00

Thank you for being a Constellation customer!

## SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940

Customer ID: RG-158576

Service for Feb-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas

Fixed Basis with Fixed Commodity Gas

Incremental Gas Costs Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity

Subtotal Other Gas Related Charges

**Total Current Site Charges** 

Amount Rate Quantity \$3,750.00 \$2,50000 1,500.00 Dth \$1,763.90 \$3,10000 569.00 Dth \$1,976.00 \$4.94000 400.00 Dth \$7,489.90 2.469.00 Dth

> \$5,366.70 \$5,366.70

\$12,856.60



Invoice Date: 04/11/22

Invoice Number: 3446574

Account ID: BG-170748 Due Date: 04/28/22

For Customer Care:

Email GasCustomerCare@constellation.com

Phone (844) 200-3427

website www.constellation.com

**SUMMARY CHARGES** 

■ Gas Supply Charges \$5,610.00

■ Other Gas Related Charges \$3,282.69

™ Taxes \$0.00

Account Adjustments

Total New Charges \$8,892.69

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576 Service for Mar-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity
Subtotal Other Gas Related Charges

**Total Current Site Charges** 

**Total Amount Due** 

\$8,892.69

## Message Center

\$0.00

Thank you for being a Constellation customer!

Quantity	Rate	Amount
1,500.00 Dth	\$2.50000	\$3,750.00
600.00 Dth	\$3.10000	\$1,860.00
2,100.00 Dth		\$5,610.00
		\$3,282.69
		\$3,282.69
		\$8,892.69



Invoice Date: 05/11/22 Invoice Number: 3472286 Account ID: BG-170748 Due Date: 05/30/22

cor emsioner Cares

GasCustomerCare@constellation.com

www.constellation.com

SUMMARY CHARGES

\$5,428.32 M Gas Supply Charges

Other Gas Related Charges \$1,891.26

\$0.00 Taxes

\$0.00 Account Adjustments

\$7,319.58 **Total New Charges** 

**Total Amount Due** 

\$7,319.58

## Message Center

Thank you for being a Constellation customer!

#### SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576

Service for Apr-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas

Buyback

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Rate Amount Quantity 1.500.00 Dth \$2.50000 \$3,750.00 550.00 Dth \$3.10000 \$1,705.00 -5.00 Dth \$5.33600 -\$26.68 2,045.00 Dth \$5,428.32

> \$1,891.26 \$1.891.26

\$7,319.58 Total Current Site Charges





Invoice Date: 06/14/22 Invoice Number: 3498949 Account ID: BG-170748 Due Date: 07/01/22



and Guerralment Care

Email GasCustomerCare@censtellation.com

Spore (844) 200-3427

was www.constellation.com

SUMMARY CHARGES

Gas Supply Charges \$5,532.50

Other Gas Related Charges \$1,246.44

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$6,778.94

**Total Amount Due** 

\$6,778.94

# Message Center

Thank you for being a Constellation customer!

PMED 21.22

#### SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576

Service for May-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

**Total Current Site Charges** 

 Quantity
 Rate
 Amount

 1,500.00 Dth
 \$2,50000
 \$3,750.00

 575.00 Dth
 \$3,10000
 \$1,782.50

 2,075.00 Dth
 \$5,532.50

\$1,246.44 \$1,246.44

\$6,778.94



Invoice Date: 07/12/22

Invoice Number: 3515122

Account ID: BG-170748

Due Date: 07/29/22

For Customer Care:

Email GasCustomerCare@constellation.com

Phone (844) 200-3427

Website www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$17,353.75

Other Gas Related Charges \$2,756.73

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$20,110.48

**Total Amount Due** 

\$20,110.48

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576

Service for Jun-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Incremental Gas Costs

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

**Total Current Site Charges** 

 Quantity
 Rate
 Amount

 1,500.00 Dth
 \$2,50000
 \$3,750.00

 575.00 Dth
 \$3,10000
 \$1,782.50

 1,351.00 Dth
 \$8,75000
 \$11,821.25

 3,426.00 Dth
 \$17,353.75

\$2,756.73 \$2,756.73

\$20,110.48



Invoice Date: 08/10/22

Invoice Number: 3539321

Account ID: BG-170748 Due Date: 08/29/22

Total Amount Due \$10,102.23

For Customer Care

<sub>mail</sub> GasCustomerCare@constellation.com

Phone (844) 200-3427

words www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$8,234.38

Other Gas Related Charges \$1,867.85

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$10,102.23

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576 Service for Jul-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Incremental Gas Costs

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

**Total Current Site Charges** 

 Quantity
 Rate
 Amount

 1.500.00 Dth
 \$2.50000
 \$3,750.00

 581.00 Dth
 \$3.10000
 \$1,801.10

 350.00 Dth
 \$7.66650
 \$2,683.28

 2,431.00 Dth
 \$8,234.38

\$1,867.85 \$1,867.85

\$10,102.23



Invoice Date: 09/13/22
Invoice Number: 3562461

Account ID: BG-170748 Due Date: 09/30/22

For Customer Care:

GasCustomerCare@constellation.com

Phone (844) 200-3427

bsite www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$5,455.00

Other Gas Related Charges \$1,195.99

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$6,650.99

**Total Amount Due** 

\$6,650.99

Message Center

Thank you for being a Constellation customer!

#### SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940

Customer ID: RG-158576 Service for Aug-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas

Fixed Basis with Fixed Commodity Gas

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

**Total Current Site Charges** 

 Quantity
 Rate
 Amount

 1,500.00 Dth
 \$2.50000
 \$3,750.00

 550.00 Dth
 \$3.10000
 \$1,705.00

 2,050.00 Dth
 \$5,455.00

\$1,195.99 \$1,195.99

\$6,650.99



Invoice Date: 10/13/22
Invoice Number: 3591576

Account ID: **BG-170748**Due Date: **10/31/22** 

or Customer Care

email GasCustomerCare@constellation.com

hone (844) 200-3427

water a work constellation con

SUMMARY CHARGES

Gas Supply Charges \$15,300.15

Other Gas Related Charges \$2,082.19

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$17,382.34

**Total Amount Due** 

\$17,382.34

# Message Center

Thank you for being a Constellation customer!

#### SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576

Service for Sep-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Incremental Gas Costs

**Subtotal Gas Supply Charges** 

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

**Total Current Site Charges** 

Quantity	Rate	Amount
1,500.00 Dth	\$2,50000	\$3,750.00
525.00 Dth	\$3.10000	\$1,627.50
1,245,00 Dth	\$7.97000	\$9,922.65
3,270.00 Dth		\$15,300.15

\$2,082.19 \$2,082.19

\$17,382.34